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9A4 7H moE F OR K O OFE &K E 391 t
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BiR : ATWEIETEBBEL 4 % TFhEL WO AWEIZARASE AL 14 % rE
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o = FEREL H A | & & % 1B I = FEEH | B £ | B fE % &
S WA K W | 200 g 151 — | NTRABDA FOaK L 400 g 594 540
LA = B 200 g 108 — || oRAB £ B 10 ke 5,616 3, 240
ZED KUK 200 g 129 118 | 2K = 10 ke 5,616 —
IE2NAED = B 200 g 162 140 | —+fhfe = B 10 ke 5, 400 2,592
ERE = B | 8ke 8, 640 — | ~TRHh - - — —
LwAEL = B 150 g 129 108 | JIREA — — — —

— — ~ — — | Bi& & 5 ke 6, 480 —

AN JevEE 10 ke 2, 160 1,944 | <D RO 5 ke 5, 940 4, 860
FEEICA U A AbEIE 10 ke 2,700 1,620 | WHUL = B 400 g 432 270
< EWN £ % 15 ke| 2,484 1,944 | 7T—/VA A1 v 9 ke 9, 720 6, 480
Xy XY FE S 10 ke 1,404 864 |
L&A £ B 10 ke 4, 320 2, 160
oY = OI% 5 ke 4, 320 —
Aorn = R 5 ke 1,728 —
k= - JtigE 4 ke 3, 240 2, 160
P— Z IR 150 g 162 91
I Lok AritE 10 ke 2,700 1, 296
mERE AbigE 20 ke 2,916 2, 700
A LWz T w5 100 g 162 108
FoklT s 1 ke| 29, 160 10, 800
LU £ % 100 g 64 | 44
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T E FTEEH | B | & HE % B Bh E FEEM | B &£ | & B = 1B

H£ES A KIEE 1 ke 2, 106 1,404 | HEY 4 F 1 ke 2, 592 1,080
mESHE R lke | . 1,263 — | YA NV — 1 ke 1,512 648
T sl 1 kg 756 291 | # 7 = TAYT 1kg 2, 160 1, 080
3 = = 1 kg 2,592 216 | & AR L 1 kg 1, 404 —
q T £ I 1 ke 345 324 | FU AL = 1 ke 4,320 1,728 |
AR A T 7 & 1 ke 939 756 | BTV < - AhiEE 1% 248 | . 162
EN<F ™5 1 ke 1,728 270

EZA % OE 1 ke 1, 458 216

&4 = It E 1 ke 2, 160 1, 080

INE ™5 1 kg 2, 160 216

7YY t& [ 1 ke 1,728 594

TrrA N A 1 ke 4, 320 1,890

e = O 1 kg 1,188 324

E7Y N 1 ke 2,052 1,188




